Maths 3™ ESO

EXAM 1_3 (POLYNOMIALS)

Name:

Remember: in each question, write the steps you have taken to reach the
solution.

1) Reduce the powers, using properties: (1.5 points)
-2 -1 -2 2 (.2
a) (Ej g . (Ej = b) a 5' (abz ) ) (03) —
3 9 \2 a’-b?(ab)
2) Work out: (1.5 points)

a. 2(x*—2x% +x-3)-(2x* +4x-6)=
b. (2x° —x® +2x% —x +3)-2x(x* —2x? +2)=

c. (x2+3)2x®+x-2)=

3) Complete: (1.5 points)
a Q+2xf=1+...+
b. (o — P =x2—10X +......
d. (4a-...)4a+..)=.... _2
4
4) Factorise the following: (1 point)
a. 3x3-12x* +12x =
b. 9x*-16 =
5) Simplify: (2 points)
. 3x° -3x _ b 3x3(x2+10x+25):
©6x% +6x " 6x(x?-25)
6) Work out and simplify: (2.5 points)

a. (x-2P-(x+1)x-1)+4x-5=

b. 2x-3)2x+3)-4(x+2) =
X+3 3x+1 1-x 1

+
3 15 3 9
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SOLUTION

1) Reduce the powers, using properties:
" (zjz(éjs_izuz
3 9 \2 22 3 3 2.3 3

a?-(ab?)'-(@®f a?-a*b%-a® a®-b®

= = —b7
a®-b?-(ab)} a®b?-a*b® a®b

b)

2) Work out:
0. 2 —2x2 +x—3)-(2x° + 4x —6)=2x> —4x?* +2x —6-2x° —4x+ 6 =
=—4x® - 2x

b. (2x% —x®+2x% —=x+3)-2x(x* —2x? +2)=2x% - x® +2x% - x+3-2x° +
+4x° —4x =3x> +2x* -5x +3

c. (X2 +3)2x®+x-2)=2x7 +x>—2x% +6x> +3x—6 =
=2x°>+7x>-2x* +3x -6
3) Complete:

a. (1+2x) =1+4x+4x3

b. (x-5f =x2-10x+25

3 3 9
d. |4a-=|4a+=|=16a*-=
( a 2)( a+2j 6a 4

4) Factorise the following:
a. 3x® —12x% +12x = 3x(x? — 4x + 4) = 3x(x - 2)?
b. 9x? -16 =(3x+4)(3x—4)

5) Simplify:
. 3x° -3x _ 3x(x? -1) _ 3x(x+1)(x-1) _x-1
T bxP+6x  bx(x+1) 2-3x(x+1) 2

3x3(x? +10x+25)  3x-x*(x+5) _ x’(x+5)

°. 6x(x?-25)  2-3x(x+5)x-5) 2(x-5)
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6) Work out and simplify:

0. (x—2F —(x+1)(x—-1)+4x-5=x>—4x+4—(x*—1)+4x -5 =
=x*-4x+4-x*+1+4x-5=0

b. (2x—3)2x+3)—4(x+2)° = 4x? ~9—4(x? + 4x + 4)=
=4x* -9 -4x? -16x-16 =-16x-25

x+3_3x+1+1—x_1 :15x+45_9x+3 15-15x 5

3 15 ' 3 9 45 45 ' 45 45
:15x+45—9x—3+15—15x—5:—9x+52

45 45




